normalized X?

1072

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

107}

chiz
Entries 11247
. Mean 0.9968
: Std Dev 0.6145
PR |
chiz
i Entries 11271
E Mean 0.9986
E Std Dev 06202
I chiz
= Entries 11271
F Mean 0.9986
E Std Dev 06202 |

R R
0 2 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |

+ | stdpev
v - [ Mean

" [Entries

Chiz_prob
Entries 11247
Mean 05349

0.3116

PR
Entries

Std Dev

Chiz_prob
11271

Prob(x?)

0 010203 0506070809 1
X
. [ ===—DQM_V0001_R000000001__Global__mkFitOLD__RECO
s DQM_V0001_R0O00000001_Global__mkFit100__RECO
— DQM V0001_R000000001__Global__mKkFit100tobtec_ RECO

vrT

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


